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Seat No.: ________                                                     Enrolment No.______________  

 

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGINEERING – SEMESTER-6  EXAMINATION –WINTER- 2019 

 

Subject Code:3360502 Date: 28-11-2019   

Subject Name: Chemical Engineering Plant Economics 

Time:02:30 PM TO 05:00 PM Total Marks: 70 
Instructions: 

 

 1. Attempt all questions. 

 2. Make Suitable assumptions wherever necessary.  

 3. Figures to the right indicate full marks.  

 4. Use of programmable & Communication aids are strictly prohibited.  

 5. Use of only simple calculator is permitted in Mathematics.  

 6. English version is authentic. 

Q.1  Answer any seven out of ten. દશમ ાંથી કોઇપણ સ તન  જવ બ આપો. 14 

 1. Give mathematical equation to determine asset value using straight line 

method. 

 

 ૧. એસેટ કીમ ાંત શોધવ  મ ટેની સીધી લિટી રીતનુ સમીકરણ િખો  

 2. What is working capital investment?  

 ૨. ક ર્યક રી થ પણ રોક ણ એટિ ેશુ?  

 3. What is specification sheet?  

 ૩. સ્પેસીફીકેશન પત્રક શુાં છે?  

 4. Define cost index.  

 ૪. કકાંમત આાંકની  વ્ર્ ખ્ર્  આપો.   

 5. Discuss: Turn over ratio.  

 ૫. ટનય ઓવર રલશર્ો ચચો.  

 6. State the objectives of plant project.  

 ૬. પિ ાંટ પ્રોજેક્ટન  હેતુઓ િખો.   

 7. What is zone selection?  

 ૭. ઝોન લસિેક્શન એટિ ેશુાં?  

 8. What is Optimization?  

 ૮. ઓપટીમ ઇઝેશન એટિ ેશુાં?  

 9. Define:  Service life  

 ૯. વ્ર્ ખ્ર્  આપો: સેવ  અવલધ   

 10. Define:  Salvage value  

 ૧૦. વ્ર્ ખ્ર્  આપો: સેલ્વેજ કકમત  

    
Q.2 (a) Discuss technical factors to be considered in plant design. 03 

પ્રશ્ન. ર (અ) પિ ન્ટ સાંરચન ને અસર કરત  ટેકલનકિ પકરબળો ચચો. ૦૩ 

  OR  

 (a) Write a short note on shifts and operating time schedules in chemical industry. 03 

 (અ) રસ ર્ણ ઉદ્યોગોમ ાં લશફ્ટ અને ઓપરેકટગ ટ ઇમ લશડ્રુ્િ લવશ ેટુાંકનોંધ િખો. ૦૩ 

 (b) Write a short note on Pilot plant. 03 

 (બ) પ ઇિોટ પિ ાંટ લવશ ેટુાંકનોંધ િખો. ૦૩ 

  OR  
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 (b) Explain equipment selection procedure. 03 

 (બ) ઉપકરણ પસાંદગી પધ્ધલત સમજાવો. ૦૩ 

 (c) Discuss principles of piping layout. 04 

 (ક) નલિક  લવન્ર્ સન  લસધ્ધ ાંતોની ચચ ય કરો. ૦૪ 

  OR  

 (c) Discuss Factors governing selection of insulation. 04 

 (ક) ઇંસુિેશનની પસાંદગીને અસર કરત  પકરબળો ચચો.  ૦૪ 

 (d) Write a short note on selection of heat transfer equipment. 04 

 (ડ) ઉષ્મ  સાંક્રમણ ઉપકરણોની પસાંદગી પર ટુાંકનોંધ િખો. ૦૪ 

  OR  

 (d) Explain: Equipment layout. 04 

 (ડ) સ ધન લવન્ર્ સ વણયવો. ૦૪ 

    
Q.3 (a) Discuss about causes of depreciation. 03 

પ્રશ્ન. 3 (અ) ઘસ ર ન  ક રણો લવશ ેચચ ય કરો. ૦૩ 

  OR  

 (a) Explain “Six-tenth factor rule.” 03 

 (અ) “છ દશ ાંશ” લનર્મ સમજાવો. ૦૩ 

 (b) Write a short note on Fixed capital investment. 03 

 (બ) લનલસ્ચત થ પણ રોક ણ લવશ ેટુાંકનોંધ િખો. ૦૩ 

  OR  

 (b) Explain methods of plant layout. 03 

 (બ) સાંર્ાંત્ર લવન્ર્ સની પધ્ધતીઓ વણયવો. ૦૩ 

 (c) Discuss any two factors to be considered for location of chemical plant. 

 
04 

 (ક) સાંર્ાંત્રની સ્થપન  મ ટે જગ્ર્ ની પસાંદગીને અસર કરત  કોઇ પણ બે પકરબળોની ચચ ય કરો. 
                                                                                       

૦૪ 

    

 OR 

 

 (c) State methods for determining depreciation. Explain declining balance method. 04 

 (ક) અવમુલ્ર્ન નક્કી કરવ  મ ટેની રીતો િખો. “કડક્િ ઇલનગ બેિેન્સ ” પધ્ધલત વણયવો. ૦૪ 

 (d) Write a short note on Break-even chart. 04 

 (ડ) “બ્રેક-ઇવન ચ ટય” લવશ ેટુાંકનોંધ િખો. ૦૪ 

  OR  

 (d) Describe analytical procedure for determining optimum condition with one variable. 04 

 (ડ) એક ચિ આવકરત ઇષ્ટતમ પકરલસ્થલત નક્કી કરવ  મ ટેની સ મ ન્ર્ પધ્ધલત વણયવો. ૦૪ 

    
Q.4 (a) The fixed cost of insulation for a steam pipe per meter of pipe is Rs. (40X+80) per 

year and the cost of heat loss from the pipe per meter of pipe is Rs. 200/X per year, 

where X is the thickness of insulation in cm. Find the optimum thickness of 

insulation. Also find the total cost of pipe at this thickness. 

03 

પ્રશ્ન. ૪ (અ) વર ળ નલિક ની લનલશ્ચત કકાંમત રૂ. (૪૦X+૮૦) પ્રલત વર્ય છે અને નલિક ન  પ્રત્રે્ક મીટર દીઠ 

ઉષ્મ  વ્ર્ર્ની કકાંમત રૂ. ૨૦૦/ X પ્રલત વર્ય છે, જર્ ાં Xએ અવ હક સ્તરની જાડ ઇ હોર્ તો અવ હક 

સ્તરની ઇષ્ટતમ જાડ ઇ શોધો. આ જાડ ઇ પર નલિક ની કુિ કકાંમત પણ શોધો. 

૦૩ 

  OR  

 (a) The following equation shows the effect of the variables X and Y on total cost for a 

particular operation, 

     CT = 2.5X + 12500  + 1.75Y +10 

                            XY 

Determine : 

03 
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1. Optimum values of X and Y 

2. Minimum total cost 

 

 (અ) નીચેનુાં સમીકરણ એક ચોક્કસ કક્રર્ ની કુિ કકાંમત મ ટે X અને Yની અસર સમજાવે છે. 

     CT = ૨.૫X + ૧૨૫૦૦ + ૧.૭૫Y +૧૦ 
                        XY 

નક્કી કરો:-  (૧) X અને Yની ઇષ્ટતમ કકાંમત 

       (૨) િઘુત્તમ કુિ કકાંમત 

૦૩ 

 (b) The plant capacity is 15 tones per day and total working days in a year may be taken 

as 340. The manufacturing cost of the product is Rs. 10,000 per ton and sales value 

of the product is Rs. 18,000 per ton. The fixed capital investment of the plant is Rs. 

5 crores and 10% of the fixed capital is charged as annual depreciation. Find the 

break-even point for this product and calculate profit or loss at70% of the total 

capacity. 

04 

 (બ) એક ક રખ ન ની ક્ષમત  ૧૫ ટન/ કદવસ છે અને એક વર્યમ ાં ૩૪૦ કદવસો ક મન  કદવસો તરીક ે

ગણત્રીમ ાં િેવ ાઁઆાં આવે છે. ઉત્પ દનો ઉત્પ દન ખચય રૂ. ૧૦,૦૦૦/ટન છે. ઉત્પ દની વેચ ણકકાંમત 

રૂ. ૧૮,૦૦૦/ટન છે. ક રખ ન નુાં સ્થ ર્ી મુડી રોક ણ ૫ કરોડ છે અને સ્થ ર્ી મુડી રોક ણન  ૧૦ 

ટક  વ ર્ર્યક ઘસ ર  ખચય તરીક ેિેવ મ ાં આવે છે. આ ક રખ ન  મ ટે બ્રેક-ઇવન-પોઇન્ટ શોધો તથ  

૭૦ ટક  ઉત્પ દન શલક્તએ નફો થશે કે નુકશ ન તેની ગણત્રી કરો. 

૦૪ 

  OR  

 (b) Write a short note on optimum economic design. 04 

 (બ) આર્થયક ઇષ્ટતમ પકરલસ્થલત સાંરચન  લવશ ેટુાંકનોંધ િખો. ૦૪ 

 (c) Explain types of flow diagrams. 07 

 (ક) ફ્િો ડ ર્ ગ્ર મ ન  પ્રક ર વણયવો. ૦૭ 

    
Q.5 (a) The capital cost of 9 million tones per annum refinery is estimated at Rs. 320 crores 

in 2010 when cost index is 250. What would have been cost of 6 million tones per 

annum refinery in 2005 when cost index was 200? 

04 

પ્રશ્ન. ૫ (અ) ૨૦૧૦મ ાં ૯૦ િ ખ ટન પ્રલતવર્ય ક્ષમત વ ળી રીફ ર્નરીની થ પણ રૂ.૩૨૦ કરોડ અાંદજવ વ મ ાં 

આવી, તે સમરે્ કકાંમત સૂચકઆાંક ૨૫૦ છે. જર્ રે ૨૦૦૫મ ાં કકાંમત સૂચકઆાંક ૨૦૦ હતો તે સમરે્ 

૬૦ િ ખ ટન પ્રલતવર્ય ક્ષમત વ ળી રીફ ર્નરીની કકાંમત કેટિી થતી હશે?  

૦૪ 

 (b) The original investment for an asset was Rs. 200000 and the asset was assumed to 

have a service life of 12 years with Rs. 32000 salvage value at the end of service 

life. After the asset has been in use for 5 years, the remaining service life and final 

salvage value are re-estimated at 10 years and Rs. 15000 respectively. Under these 

conditions what is the depreciation cost during sixth year of the total life if the 

straight line depreciation is used? 

04 

 (બ) એક સાંર્ાંત્રની મૂળ કકાંમત રૂ. ૨૦૦,૦૦૦ હતી તથ  તેની ૧૨ વર્યની સેવ  અવલધ બ દ સેલ્વેજ કકાંમત 

રૂ. ૩૨,૦૦૦ નક્કી કરવ મ ાં આવી હતી. ૫ વર્યન  વપર શ પછી, તેની બ કીની સેવ  અવલધ અને 

આખરી સેલ્વેજ કકાંમત ફરીથી અનુક્રમે ૧૦ વર્ય અને રૂ. ૧૫,૦૦૦ નક્કી કરવ મ ાં આવી. આ 

પકરલસ્થતીમ ાં જો સીધી િીટી પધ્ધતીથી તેનુાં અવમુલ્ર્ન ગણવ મ ાં આવે કુિ સેવ  અવલધન  છઠ્ઠ  

વર્ે વ ર્ર્યક અવમુલ્ર્નની કકાંમત કેટિી થશે?  

૦૪ 

 (c) “It is advisable to select standard equipment wherever possible”-Justify. 03 

 (ક) “જર્ ાં શક્ર્ હોર્ ત્ર્ ાં લનર્ત ઉપકરણોની પસાંદ કરવુાં સિ હ ભરુ્ું છે” – આ લવધ નને ન્ર્ ર્ આપો. ૦૩ 

 (d) Write a short note on process design. 03 

 (ડ) પ્રકક્રર્  સાંરચન  લવશ ેટુાંકનોંધ િખો. ૦૩ 

 

 


